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Step 1 - Build the taxable income computation 

Click to display/hide the solution. 

Solution 

Kumar: Taxable income for 2014/15 

Earned income 
Employed income 

Investment income 
Savings income (£19,200*100/80) 
Dividends received (£270*100/90) 

Total income 
Less Personal Allowance (PA) 

Taxable income 

Step 2 - Calculate the income tax liability 

Click to display/hide the solution. 

Solution 

Non-savings income 

(£30,000 - £10,600) = £19,400 x 20% 

Savings income 

Firstly, the balance of the 20% band is used: 

(£31, 785- £19,400) = £12,385 x 20% 

Then, the balance is taxed at 40%: 

(£24,000 - £12,385) = £11,615 x 40% 

Dividend income 

£300 x 32.5% 

Income tax liability 

30,000 

24,000 
300 

54,300 
(10,600) 

43,700 

£3,880 

£2,477 

£4,646 

£97.50 

£11,100.50 
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Step 3 - Calculate the income tax payable 

Click to display/hide the solution. 

Solution 

Income tax liability 

Less: Tax credit on dividends 

Less: Income tax deducted at source (£4,450 + (£24,000 x 20/100)) 

Income tax payable 

£11,100.50 

£(30) 

£(9,250) 

£1,820.50 


